ZFEEFR022F 2 ESREMETARERFIZEMURNEZRAR

EHHRS 92 GERGZ  |IURIEW itk |ZIBR PARENZER
103842214209401  [BRAA 618.00 020205 IR | & =Bl EEMHAL
102472321111651  |FFHER 612.00 020206 EfRRR5%F | % =R IEEMFAL
100082210001141  |&Z 586.40 020206 EfRRHZF | % =Bl EEMHAL
100082210001146  |#E5% 581.40 020206 EfFRRZE | & e =k ML
105592250002993  |fE4E4E 376.00 125100 TR E&TH i E| =Sk ERFL
105592250002952  |Z=rh#g 366.20 125100 TrHEHE i E£BH EMEFALY
105592250003505  |BEEEHk 365.00 125100 TR E&TH i E| =Sk ERFL
105592250003474 | B& 361.40 125100 THEE 7 e[Sk ERFL
105592250005575  |E#& 358.20 125100 TR E&TH i E|=skd ERFL
114132116301132  |#X$5 347.60 125100 TrHEHE i E£BH EMEFALY
101902210500784  |f&sKkiR 342.80 125100 TR E&TH i E|=skd ERFL
103352000913069  |3KiEiH 332.00 125100 TrHEHE 7 =Rk ERFL
100032059007224  |B&RESIY 330.80 125100 TR E&TH i E|=skd ERFL
100192111901829  [Xi#B 328.40 125100 TR % E| == EMFLY
100012000320527  |#&=F3E 327.60 125100 TR E&TH % E|=skd ERFEL
100782125122669  |4£Jks 325.20 125100 TrHEHE i =Rk ERFL
100752092000006  |{EfEFR 325.00 125100 TR ETH i E|=s ke ERFL
100022517106539  |E{E 324.80 125100 TrHETE % E| =S EMFLY
100132111352018  |R#8 324.80 125100 TR E&TH % E|=skd ERFL
100022512904316  [3K&E% 324.40 125100 TRHEHE i =Rk ERFL
100332001215279  |&HENR 324.20 125100 TR E&TH i E|=s ke ERFL
106102125200736 | 323.40 125100 TrHEHE i =Rk ERFL
100542000002508 (== 322.80 125100 Tr5E&1H . E|=E ks ERFL
100552099980359  [XIJ3ZE# 322.40 125100 TR % E| =Sk EMFLY
100342229991033  |EEIREF 321.40 125100 TR ETH . E|=E ks ERFL
100012002210036  |&—75 321.20 125100 TrHETE % E| =Sk ERFL
105592250003286  |3PEE 320.80 125100 Tr5E&1H . E|=E ks ERFL
106102125102572 | FR&Z 320.40 125100 TR E&TH % E| =Sk ERFL
100332001213515 [{F2FE 320.40 125100 Tr5E&TH 7 =B ERFL
106512125190021 (G303 320.00 125100 TrHEHE i E| =Sk ERFL
100332300213001  (Z=E&[H 319.60 125100 Tr5E&1H . E|=E ks ERFL
100782125122659  |{AE 319.20 125100 TR E&TH % E| =Sk ERFL
100272999060247  |BPEIE 319.20 125100 TrHETE v E2HH ERFL
144302087000773  |#BER 318.80 125100 TR 7 F=BH ERFL
100072000007086  |Z=3zi 318.20 125100 TRHEHE 7o E| =Sk ERFL
100552399984405  |FIM& 318.20 125100 TrHEHE 7 F=BH ERFL
144302087001617  [|3KEBIR 316.20 125100 TrHETE v E2HH ERFL
100332001215310  [XUFE 315.40 125100 TR E&1H % F=BH ERFL
100272999021989  |E& 315.20 125100 TrHEHE % E| =Sk ERFL
104222510901805  |Ei@rY 314.80 125100 TRHEHE 7 ISk ERFL
100082250010698  |=8% 314.80 125100 Tr5E&TH % e[Sk ERFL
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EHHRS 92 GERGZ  |IURIEW itk |FIHBH PARENZER
144302087000505  |17ERE 314.60 125100 TrgETE % ISk EMFLY
100332001213078 | FEd 314.60 125100 TrHETE 7c E|S=SS k] EmFLALY
100192111902914 Xtk 313.80 125100 TR ETH i E|=skd ERFL
100272999021488 |21 313.40 125100 TrHEHE i E£BH EMEFALY
100082250010917  |3KABRX 313.00 125100 TR E&TH i E| =Sk ERFL
100072000006702  |ERR=# 312.80 125100 TrHEHE i E£BH EMEFALY
144302087001486  |3KKit 312.60 125100 TR E&TH i E| =Sk ERFL
104592410011293  |XfHEeE 312.40 125100 TRHETE 7 == TEMARAL
100072000004324  |Z=/)\E8 312.20 125100 TR E&TH i E|=skd ERFL
100552399983556 | E¥E 312.20 125100 TrHEHE i =Rk ERFL
100072000005631 (BT 311.80 125100 TrHEHE i E|=skd ERFL
100552099981628  [{&EER 311.40 125100 TrHEHE i E£BH EMEFALY
103352000913167  |=#% 311.20 125100 TR ETH i E|=skd ERFL
100132111350634  |=#5 311.00 125100 TrHE&TE % E| == EMFLY
100522011104839 | I 310.80 125100 TR E&TH % E|=skd ERFEL
100192111902193  |#XiSE 310.60 125100 TrHEHE 7 =Rk ERFL
104592410010949  |HWIEN 310.60 125100 TR E&TH i E|=s ke ERFL
100562027024135  |KIRE 310.40 125100 TRHEHE i =Rk ERFL
144302087001519  (#kiEHT 309.80 125100 TR E&TH % E|=skd ERFL
106512125190501  |XI#EfE 309.60 125100 TRHEHE i =Rk ERFL
100382125100586  |Z=[@E)#E 309.00 125100 TR E&TH i E|=s ke ERFL
100192111902234  |ZEK 308.60 125100 TrHEHE i =Rk ERFL
100332001213266  |$43A 308.40 125100 Tr5E&1H . E| =Sk EMFALY
100192111902421  |fRiZin 308.00 125100 TrHETE % E| =Sk ERFL
144302087001663  [XIfF 307.80 125100 TRHETE 7 ELBH TEAHAL
106982370215965  |3KiE 307.20 125100 TrHEHE i E| =Sk ERFL
144302087000325  [XIfF 307.00 125100 TRHETE 7 ELBH TEMAHAL
100272999021692  [3K&EIK 307.00 125100 TrHEHE i E| =Sk ERFL
100552399984296  |3KBIT 307.00 125100 Tr5E&TH % E|=E ks EMEFALY
104222510102855  |%B&FIL 306.80 125100 TrHETE % E| =Sk EMFLY
144302087000970  [fX/DK 306.40 125100 TRHETE 7 ELBH TEMAHAL
114132520207399  |EE® 306.00 125100 TrHEHE i E| =Sk ERFL
106102125100052  |XIZE3=R 305.20 125100 TrHETE v E2HH ERFL
100332001213007  |2& 304.40 125100 TraETE % F=BH ERFL
100332001213566 | 2350 304.40 125100 TRHEHE 7o E| =Sk EMEFLY
106142125118262 |85 304.40 125100 TrHETH 7 F=BH ERFL
100272999021364  [£hEHt 304.40 125100 TrHEHE 7o E| =Sk EMEFALY
100552099981607  |BAHB 304.40 125100 TrHETH 7 F=BH ERFL
104592410012288 (= 304.00 125100 Tr5E&TH % e[Sk EMEFLLY
100272999021216  |EZ 303.80 125100 TRHEHE 7 ISk ERFL
144302087000795  |#XH8 303.40 125100 Tr5E&TH % e[Sk EMEFLLY
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106982311713591  [i&ERE 303.40 125100 TrgETE i ISk EMFLY
100342119990984  |%&Hk 303.20 125100 THETE 7 E2HH EAHAL
101832212536202  |BE=ER 302.20 125100 TR i =B EMEFALY
100272999021209  |EfniE 302.00 125100 TrHEHE i E£BH EMEFALY
100192111902266  |XIfE 301.80 125100 TrHEHE i E| =Sk ERFL
144302087001554  |F&/]\i& 300.60 125100 TRHEHE % =Rk ERFL
100272999021864  |Z=[AliE 300.20 125100 TR E&TH i E| =Sk ERFL
100192111902682 |E#iREG 299.80 125100 TrHEHE i E£BH EMEFALY
101412233251544  |#&—3E 299.80 125100 TR E&TH i E|=skd ERFL
100072000005257  |R—% 299.40 125100 THEME 7 e[Sk ERFL
106142125119144  |17H# 299.20 125100 TR E&TH i E|=skd ERFL
100272999020765  |[AE£ 299.20 125100 TrHEHE i E£BH EMEFALY
100272999021639  |FZ% 298.60 125100 TR ETH i E|=skd ERFL
100272999020829 | FFH 298.00 125100 TRHEHE 7 =Rk EMFLY
100192130603540 (5B 297.60 125100 TR E&TH % E|=skd ERFEL
100272999022005  |#tEH 296.20 125100 TrHEHE i =Rk ERFL
100782125122699  |E&% 295.20 125100 TR E&TH i E|=s ke ERFL
100272999020685  |igHEH 295.00 125100 TRHEHE 7 =Rk ERFL
100132514352871 |28 294.40 125100 TR ETH % E|=skd ERFL
144302087001473  |R5% 293.80 125100 TR 7z E| =S EMFLY
100082250009681  |Z=RRIE 292.80 125100 TR E&TH i E|=s ke ERFL
104252540000582  |#\EE3R 291.00 125100 TrHETE % E| =S EMFLY
100192130203257  |#73ZM 287.20 125100 Tr5E&1H 7 =B ERFL
100192111901975 | FRE 287.00 125100 TrHETE % E| =Sk ERFL
100802917060165 | E# 286.60 125100 TrgETE . E|=E ks ERFL
100272999021478  [SBiRSE 281.60 125100 THEHE % E| =Sk EMFLY
100552399984273 X35l 280.00 125100 Tr5E&1H . E|=E ks ERFL
104862104020870 |EFER 374.20 125300 =it v E| =Sk ERFL
100342229970510 |7 366.60 125300 £it . E| =Sk ERFL
106512125390299  |F#AX 364.40 125300 =it v E| =Sk ERFL
100092110901778  |XUiZ 362.60 125300 £it 7 E=HH TEMEFY
105422431539570  |EXFHENES [361.60 125300 £it v E| =Sk ERFL
804012125300152  [sKk=* 361.00 125300 £t 7 FE=HH EME Y
100362999916258 Xk 360.80 125300 £it 7 F=BH ERFL
100552099982545  |EZ&h 360.80 125300 £it 7 E| =Sk EMEFLY
100522011104179  [E&H 360.00 125300 £it 7 F=BH ERFL
101732200010575  |Z=@E= 358.80 125300 £it 7 =B ERFL
100042321108635  |KiR= 357.80 125300 =it 7 F=BH ERFL
101262003120295 |&@E& 357.60 125300 £it % E| =Sk ERFL
816012375110566 | i 353.60 125300 =it 7 ISk ERFL
804012125300166  |[&— 353.20 125300 £t 7 FE=HH EMEFI
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LIRS e GEms  |IURIEW itk (235K PAREERE!
804012025700216  |F&T 353.00 125300 £it 7 e[Sk ERFL
100382125300690 |BEE 352.40 125300 £it 7c E2HH ERFL
100562000211526  |FHE 352.00 125300 £it 7 E|=skd TEMAHAL




